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O A EEgEE 82
320,072,000& 4.00/100 12,803
Jl2& bl 72,290 71,290 1,000
Jl2dbl(sEXNE1) 72,290 71,290 1,000
201 LEt2AYH| 66,890 65,890 1,000
01 AFR2t2l bl 36,540 36,540 0
[0 det+24H| 21,840
O EAMEX 2L 30,0008 * 102tA + 128 3,600
O 2% 28 {0 15,0008 * 35 * 20% 900
HHNTEE 7
20,000& * 158 = 103 3,000




N sEXNZD
H: HH2IAH(sEXNETH)
¢l =gl (chel & 9l)
£AH-FH-H2A(3AH) - A2AY -BHES Ofl & oH %}E_i Hn&s2Z
O &I nde I8
15,000& * 2& » 12& 360
O 38 L nNYX A==
20,000& = 32 = 12& 720
O g2 BN S 39 A7 R¢
10,000& » 1008 1,000
O 52 ¢ NEX U P=2(sEXT D,
agA) 12,000& » 1582 » 128 2,160
O HEMRIIN 228 2 10,100
mAEH Y EY 200,000& * 23l 400
SAIEH ¥ EF
250,000& = 504 = 23l 2,500
TeH EH ¥ =™
300,000&  120H * 23] 7,200
0O =&l 14,700
O s& Nk g2x7
7,000& * 21 = 100 14,700
02 2324gHl 30,350 29,350 1,000
O 2222 2 HMAl 5,850
O =& Nk g1 285 fEE
300& = 5002 = 123l 1,800
O UHsXA ¢ ZAz 1,610
SEX 800
- XS XA 120,000& * 504 600
- Az A FAZ 40,0003 = 50K 200
S 210
- NS XAl 150,000& 104 150
- AsSI A= 60,0002 * 10K 60
st =X 600
- XS XAl 100,000& * 30K 300
- NS A= 100,000& * 3CH 300
O SINERES 40,0003 * 9OH = 23] 720
O 0IEX(EE) 60,0002 * 30K 180
O ANMES SZHERLES(FEA)
390,000& * 23| 780
O ANEE sZideg3(guad)
5,000& * 23| * 4012 760
O AIE ZHI R XY 2,000
O #HIHAMRIII| X2yl
200,000& = 10CH 2,000
O Xtg - detdl 22,500
O =21 4 g2 (U, HHIKX
g, 2234l) 22,500
SEX 2,200,000& = 5CH 11,000
SEX 2,500,000& * 1CH 2,500




N sEXNZD
M HELAAY (SEXNT D
chelr D123l
SA - ZE-B(EN) - NRAY - B S il &t o il
SIE=PN; 3,000,000& » 3O 9,000
203 YR =& 4,200 4,200
04 RFN2IEHSFAH 4,200 4,200
0O sEXzsn 350,000& = 12& 4,200
204 AR A H| 1,200 1,200
01 ¥R A 1,200 1,200

0 sEXN&HE 100,000 * 128 1,200




